
JustinW
Typewritten Text
For more information contact our team: service.ec@foagroup.com







JustinW
Typewritten Text
Align bracket (#F) to the holes of the side and center legs (#2,3). Secure by using bolts (#B).

JustinW
Rectangle

JustinW
Typewritten Text
1) Align back panels (#4) to the holes of the top panel (#1), then secure by using bolts (#A) with washers (#C,D).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Line

JustinW
Line

JustinW
Typewritten Text
2) Align side legs (#2) and center legs (#3) to the holes of the top panel (#1), then secure by using bolts (#B).

JustinW
Rectangle

JustinW
Line

JustinW
Line

JustinW
Line



JustinW
Typewritten Text
1) Align bottom panel (#6) to the holes of the side/center legs (#2,3) and back panels (#4). Secure back panels (#4) to the holes of the bottom panel (#6), then secure by using bolts (#A) with washers (#C,D).

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Line

JustinW
Line

JustinW
Typewritten Text
2) Secure side/center legs (#2,3) to the holes of the bottom panel (#6), then secure by using bolts (#A) with washers (#C,D).

JustinW
Rectangle

JustinW
Line

JustinW
Line

JustinW
Line

JustinW
Typewritten Text
Insert glass shelf supports (#G) to the holes of the side/center legs (#2,3) and back panels (#4), then insert glass shelves (#5) through the shelf supports (#G).

JustinW
Rectangle



JustinW
Typewritten Text
Plug adapter (#7) to the TV-stand and electrical outlet.

JustinW
Rectangle

JustinW
Typewritten Text
Screw the shelf supports (#G) to tighten and secure the glass shelves.

JustinW
Typewritten Text

JustinW
Rectangle

JustinW
Typewritten Text
Touch me sticker to activate functions.

JustinW
Rectangle




